

Welcome snyderc | Logout

Need assistance?

Contact us

Home Search Source Tools

View by Line Item | View by Supplier

Email Tabulation | Generate PDF | View Printable

Bid #ITB 2022-021 - Roof Maintenance and Repair

Creation Date **Feb 23, 2022** End Date **Mar 23, 2022 2:00:00 PM EDT**

Start Date Feb 23, 2022 4:00:48 PM EST Awarded Date Not Yet Awarded

ITB 2022-02101-01 GROUP 1 Business Hours 7:30 a.m. th	rough 4:30 p.m.: GROUP 1 - Foremar	n/Supervisor			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CJ Contracting,LLC	First Offer - \$64.00	75 / hour	\$4,800.00	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Advanced Roofing, Inc.	First Offer - \$65.00	75 / hour	\$4,875.00	Û	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
GARABAR INC	First Offer - \$95.00	75 / hour	\$7,125.00		
		Supplier Product Code: Supplier Notes:			
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$100.00	75 / hour	\$7,500.00	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·	

ITB 2022-02101-02 GROUP 1 Business Hours 7:30 a.m. through 4:30 p.m.: GROUP 1 Roofing Carpenter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CJ Contracting,LLC	First Offer - \$29.00	300 / hour	\$8,700.00	Ú				
		Supplier Product Code: Supplier Notes:						
Advanced Roofing, Inc.	First Offer - \$55.00	300 / hour	\$16,500.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
GARABAR INC	First Offer - \$85.00	300 / hour	\$25,500.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$85.00	300 / hour	\$25,500.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

ITB 2022-02101-03 GROUP 1 Business Hours 7:30 a.m. through 4:30 p.m.: GROUP 1 Roofing Laborer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CJ Contracting,LLC	First Offer - \$17.00	300 / hour	\$5,100.00	Û				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Roofing, Inc.	First Offer - \$50.00	300 / hour	\$15,000.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$65.00	300 / hour	\$19,500.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
GARABAR INC	First Offer - \$75.00	300 / hour	\$22,500.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

ITB 2022-02101-04 GROUP 1 Business Hours 7:30 a.m. through 4:30 p.m.: GROUP 1 Apprentice								
Supplier	<u> </u>		Qty/Unit	Total Price	Attch.	Docs		
CJ Contracting,LLC		First Offer - \$13.00	75 / hour	\$975.00	Ú			
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Advanced Roofing, Inc.		First Offer - \$45.00	75 / hour	\$3,375.00				
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Grace Roofing & Sheet Metal Enterprise, LLC		First Offer - \$60.00	75 / hour	\$4,500.00				

Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		
GARABAR INC		First Offer - \$75.00	75 / hour	\$5,625.00	
Product Code:	•	•	Supplier Product Code:		
Agency Notes			Supplier Notes		

ITB 2022-02102-01 GROUP 2 After Hours 4:30 p.m. throu	gh 7:30 a.m.: Foreman/Superviseor					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Advanced Roofing, Inc.	First Offer - \$75.00	15 / hour	\$1,125.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
<u>CJ Contracting,LLC</u>	First Offer - \$96.00	15 / hour	\$1,440.00	J		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$120.00	15 / hour	\$1,800.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
GARABAR INC	First Offer - \$125.00	15 / hour	\$1,875.00			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

ITB 2022-021–02-02 GROUP 2 After Hours 4:30 p.m. through 7:30	a.m.: Roofing Carpenter					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CJ Contracting,LLC	First Offer - \$43.50	75 / hour	\$3,262.50	Ú		
		Supplier Product Code: Supplier Notes:				
Advanced Roofing, Inc.	First Offer - \$65.00	75 / hour	\$4,875.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$100.00	75 / hour	\$7,500.00			
		Supplier Product Code: Supplier Notes:				
GARABAR INC	First Offer - \$115.00	75 / hour	\$8,625.00			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

ITB 2022-021–02-03 GROUP 2 After Hours 4:30 p.m. through 7:30 a.m.: Roofing Laborer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CJ Contracting,LLC	First Offer - \$25.50	75 / hour	\$1,912.50	Ũ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Roofing, Inc.	First Offer - \$55.00	75 / hour	\$4,125.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$80.00	75 / hour	\$6,000.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
GARABAR INC	First Offer - \$105.00	75 / hour	\$7,875.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

ITB 2022-02102-04 GROUP 2 After Hours 4:30 p.m. through	h 7:30 a.m	.: Apprentice				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
CJ Contracting,LLC		First Offer - \$15.00	10 / hour	\$150.00	Ú	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Advanced Roofing, Inc.		First Offer - \$55.00	10 / hour	\$550.00		
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Grace Roofing & Sheet Metal Enterprise, LLC		First Offer - \$75.00	10 / hour	\$750.00		
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
GARABAR INC		First Offer - \$105.00	10 / hour	\$1,050.00		
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

ITB 2022-021–03-01 GROUP 3 Materials and Mark-Up: Materials and Mark-Up								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Grace Roofing & Sheet Metal Enterprise, LLC	First Offer - \$27,000.00	1 / lot	\$27,000.00					
Product Code:		Supplier Product Code:						

Periscope Source: Agency Reports

Agency Notes:		Supplier Notes:			
GARABAR INC	First Offer - \$75,000.00	1 / lot	\$75,000.00	Ũ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
		Material and Mark up is 25% o	of 300,000. =\$75,000.		
Advanced Roofing, Inc.	First Offer - \$318,000.00	1 / lot	\$318,000.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
CJ Contracting LLC	First Offer - \$324,000.00	1 / lot	\$324,000.00	Ú	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Supplier Totals

f Grace Roofing & Sheet Metal Enterprise, LLC	\$100,050.00 (9/9 items)				
Bid Contact jeffrey Aldred Estimating@graceroofing.net Ph 954-733-7332	Address 12500 NW 35TH Street Coral Springs, FL 33065				
Fax 954-733-7342 Agency Notes:	Supplier Notes:	Head Attc 』	h:		
f GARABAR INC	\$155,175.00 (9)	/9 items)			
Bid Contact RICHARD MCCALLA richard@garabar.com Ph 631-831-2797	Address 3575 23RD AVENUE SOUTH LAKE WORTH , FL 33461				
Agency Notes:	Supplier Notes:	Head At	ttch:		
f <u>CJ Contracting,LLC</u>	\$350,340.00 (9/9 i	tems)			
Bid Contact Carl Fleury cjcontracting9@aol.com Ph 561-662-4514	Address 11924 Forest Hill Blvd Ste. 10A-267 Wellington, FL 33414				
Agency Notes:	Supplier Notes:	Head Attcl	h:		
f Advanced Roofing, Inc.	\$368,4	25.00 (9/9 items	s)		
Bid Contact Debbie Giuliani debbieg@advancedroofing.com Ph 954-522-6868	Address 1950 NW 22nd Street Fort Lauderdale, FL 33311				
Bid Notes Please find our bid uploaded with all the required forms and required suppler	nental information.				
Agency Notes:	Supplier Notes: Please find our bid uploaded with all the required supplemental information.	red forms and	Head Attch:		

Close

Questions? Contact a Periscope Source representative: 800-990-9339 or email: source-support@periscopeholdings.com

Home Bid Search Bids Orders Tools Support Privacy Logout



^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Copyright © 2020 - Periscope Holdings, Inc. - All rights reserved.